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QUESTION 1

How is bandwidth allocated to traffic flows in a flow-based WFQ solution?

A. Each type of traffic flow has equal bandwidth.

B. Bandwidth is divided among traffic flows. Voice has priority.

C. Voice has priority and the other types of traffic share the remaining bandwidth
D. All the bandwidth is divided based on the QoS marking of the packets

Correct Answer: A

QUESTION 2

What is required when deploying co-resident VMs by using Cisco UCM?

A. Provide a guaranteed bandwidth of 10 Mbps.

B. Ensure that applications will perform QoS.

C. Avoid hardware oversubscription.

D. Deploy the VMs to a server running Cisco UCM.

Correct Answer: C

When deploying co-resident VMs by using Cisco UCM, it is important to avoid hardware oversubscription. This means
that you should not assign more resources to the VMs than the physical hardware can provide. For example, if you have
a

server with 16 CPU cores, you should not assign more than 16 CPU cores to the VMs. If you oversubscribe the
hardware, the VMs will not be able to get the resources they need to run properly. This can lead to performance

problems and

even outages. To avoid hardware oversubscription, you should carefully plan your VM deployments. You should also
monitor the performance of the VMs to make sure that they are not overusing the resources.

Here are some additional tips for deploying co-resident VMs by using Cisco UCM:

Use a virtualization platform that supports Cisco UCM. Make sure that the VMs have the correct operating system and
software installed. Configure the VMs to use the correct network settings. Monitor the performance of the VMs to make

sure that they are running properly.
Reference:

https://lwww.cisco.com/c/dam/en/us/td/docs/voice_ip_comm/uc_system/virtualization/collaboration-virtualization-
sizing.html
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QUESTION 3

In which location does an administrator look to determine which subscriber the phone registers to if loses registration
with the current Cisco UCM subscriber?

A. On Cisco UCM Administration Page Device > Phone > Phone Configuration page
B. On Cisco UCM Administrator Page server > Cisco UCM

C. On Cisco UCM Administrator page system > Device Pool > Cisco UCM group

D. On Cisco UCM Administrator page system > Enterprise Parameters

Correct Answer: C

QUESTION 4

Refer to the exhibit

INVITE sip:2002810.10.10.10:5060 SIP/2.0
[..trancated. . ]

w=0

o=UAC 6107 7816 IN IP4 10.10.10.11
s=8TF Call

c=IN IP4 10.10.10.11

t=0 0

m=audic 819%0 RTP/AVP 18 110

c=IN IP4 10.10.10.11

a=rtpmap:18 G729/8000

a=fmtp:18 annexb=no

a=rtpmap:110 telephone-event/8000
a=fmtp:110 0-16

a—ptime: 20

SIP/2.0 200 OK
[..trancated. . ]

=0

o=UAS 4692 9609 IN IP4 10.10.10.10
s=8IP Call

c=IN IP4 10.10.10.10
t=0 0

m=audic 806 RTP/AVE 18
c=IN IP4 10.10.10.10
a—rtpmap:18 C729%/8000
a=fmtp:18 annexb=no
a=ptime:20

The SDP offer/answer has been completed successfully but there is no DTMF when users press keys. What is the
cause of the issue?
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A. DTMF was negotiated properly in these messages.

B. G.729 rather than G.711lulaw was negotiated.

C. Payload type 110 was negotiated rather than type 101.
D. DTMF was not negotiated on the call.

Correct Answer: D

https://www.ciscolive.com/c/dam/r/ciscolive/us/docs/2018/pdf/BRKUCC-2006.pdf [page 47]

QUESTION 5

What dialed number match this cisco UCM route pattern? 1[23]XX
A. 1200 through 1399 only

B. 1230 through 1239 only

C. 12300 through 12399 only

D. 1200 through 1300 only

Correct Answer: A
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